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Homework / Problem Set #3

The items below are drawn from the material in chapters 20, 17, 18, 21, 23, and 24.  After reading each chapter, review the chapter summary, key concepts, and other end-of-the chapter material.  You might also look over the PowerPoint slides.  Then prepare and submit your written responses to these items.  You may work and discuss your responses with others, but what you submit must be in your own words.  You may hand-in a hard-copy in class or send an MS-Word or PDF file (be sure your name appears in the file) attached to e-mail to jolson@csbsju.edu – DUE:  Monday, May 1st, 2017.

1.  (Chap. 20)  Access the most recent (April 7th, 2017) Employment Situation report (for March 2017) from the BLS.  This can be found at https://stats.bls.gov/news.release/empsit.htm.  Scroll down to Table A-4, which presents recent data on employment status for those 25 years of age or older by educational attainment.  Examine the “seasonally adjusted” data.  In March 2017, the labor force of these adults totaled 138.735 million.  What percentage of them have: 

a) less than a high school diploma 

7.3%
b) only a high school diploma 


26.0%
c) some college or an associate degree 

27.3%
d) a bachelor’s degree and higher 

39.4%
For each of the four levels of educational attainment, examine the labor force participation rates and the unemployment rates.

e) What conclusion(s) do you draw or reach about the effects of education in the labor markets?

There is a clear positive correlation between educational attainment and labor force participation; the more education an individual has, the more likely they will be engaged in working (or trying to find work).
Further, the higher the level of educational attainment, the lower the unemployment rate; it is reasonable to think that more advanced educational attainment prepares one for a greater variety of jobs, thus making it easier to find  work when you are unemployed.
2.  (Chap. 17)  List and describe four determinants of productivity.  For each of the determinants, identify one government policy action which might increase or enhance it.

More physical capital per worker – policies to increase either the amount of saving or investment will increase.

More human capital per worker – policies to improve the amount and/or quality of labor (education, health, labor mobility, etc.).

More natural resources per worker – policies to improve the efficiency of the extraction and use of natural resources.

Technological change – policies to promote research into and the development of new technologies.

3.  (Chap. 18)  In an open economy (one with international trade), the macroeconomic identities require that I = S + T-G – netX; that is, investment = private saving + government saving + foreign saving.  Note that if T-G is negative, the government has a budget deficit which means the government is borrowing; and negative net exports means we have a trade deficit, which creates or yields an inflow of foreign savings to (foreign investment into) the economy.
Suppose that Americans are not inclined to save more, so that S remains roughly constant.  President Trump (and some/many Republicans in Congress) want to cut taxes (T), increase spending (G) for national defense and to rebuild America’s infrastructure; as well as, they want to reduce the trade deficit (-netX).  What are the likely macroeconomic consequences or effects of these policies?  Can these economic goals all be achieved?
The tax cuts (T) and increased government spending (G) are likely to increase the budget deficit (T-G becomes more negative).  Thus, one of two things (or a combination of them) will have to occur if private domestic savings (S) does not change.
Either investment (I) will decrease as there is less total savings available (the supply of loanable funds decreases as government “crowding-out” occurs) and/or there will be an increase in foreign savings (funds flow in from abroad), which means the trade deficit will become larger (worsen).
In order for the loanable funds market to stay in balance (equilibrium), it is likely the real interest rate will increase (and this will likely cause the dollar exchange rate to appreciate – leading to a larger trade deficit).
The economic goals – cutting taxes, increased infrastructure spending, and reducing the trade deficit – are not compatible; that is, they cannot all be achieved.
4.  (Chap. 18)  Draw a graph of the loanable funds market.

a) what is the source of the demand for loanable funds?

b) what is the source of the supply of loanable funds?

c) what is the price of loanable funds?

d) how does an increase in the government’s budget deficit affect the loanable funds market (show this in your graph)?

e) suppose interest rates rise and the dollar appreciates (becomes stronger), so that the trade deficit worsens (net exports become more negative); how might this affect the loanable funds market?
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a)  the demand for loanable funds arises from the need for funds to undertake economic investment (business’ new plant and equipment, residential construction).

b)  the supply of loanable funds arises from the total saving in the economy – private saving (S) from households, government saving (T-G), and foreign saving (-netX).

c)  the price of loanable funds is the real interest rate.

d)  an increase in the government’s budget deficit will decrease the supply, shifting the supply curve to the left and increasing the equilibrium interest rate.

e)  as the real interest rate increases (and the $ exchange rate appreciates), this would be reflected as a movement up along the supply curve of loanable funds (more foreign savings comes into the economy).  This presumes something has either caused an increase in the demand for loanable funds (a rise in investment demand or that the domestic supply of loanable funds has fallen (less private saving or larger government budget deficits).
5.  (Chap. 21)  What distinguishes money from other assets in the economy?
Unlike other assets in the economy, money uniquely serves as a medium of exchange – that is, it is a transactions asset.  Like money, other assets can serve as a store of value (wealth) or serve as a unit of account; but only money is commonly used in exchanges of value (transactions).
6.  (Chap. 21)  If the Federal Reserve wants to increase the money supply with open-market operations, what does it do?  Explain how this action by the Federal Reserve may affect the interest rate in the loanable funds market.
Using an open market operation, the Federal Reserve would purchase bonds – this puts additional funds into the banking system and public’s hands, leading to an increase in the money supply.  By purchasing the bonds, they have added loanable funds – and in the short-run this will decrease the real interest rate in the loanable funds market.

However, in the long-run, this addition to the money stock will increase the price level (increasing inflation), leading to decreases in the supply of loanable funds (from abroad, as the exchange rate depreciates) and/or increases in the demand for loanable funds – restoring the real interest rate to its initial level.
7.  (Chap. 23)  Draw a graph with the aggregate demand, short-run aggregate supply, and long-run aggregate supply curves.  (Be sure to label the axes and curves correctly.)
a) list and briefly explain the three reasons by the aggregate demand curve has a negative slope.

b) explain why the long-run aggregate supply curve is vertical.

c) why does the short-run aggregate supply curve have a positive slope?
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a)  (1) the wealth effect – as the price level rises, the real value of peoples’ fixed nominal wealth decreases, so they reduce spending (on C), (2) the interest rate effect – as price level rises, people need to hold more money for transactions which increases the demand for money, raising the interest rate which reduces investment (I) spending, (3) the exchange rate effect – as the domestic price level rises relative to prices in the rest of the world, this reduces the demand for exports and increases the demand for imports, so netX falls.
b) in the long-run, an economy’s real GDP is determined by the supplies of labor, capital, natural resources and the available technology used to combine them into goods and services.  The amount of money and the overall / aggregate price level does not determine or affect the amounts of these resources or their rate of use.  Thus, the long-run aggregate supply curve is vertical – real GDP is independent of the price level.

c)  in the short-run, aggregate supply is positively-sloped because of either:  (1) the sticky wage theory, (2) the sticky price theory, and/or (3) the misperceptions theory.

In essence, each of these theories provide explanations that in the short-run, households and business firms do not or cannot properly adjust their real economic activities as prices (and wages) need to rise to re-establish equilibrium – that there are short-run output adjustments which will dissipate in the long-run when prices and wages have fully adjusted to new long-run equilibrium values.
8.  (Chap. 23)  What might cause the aggregate demand curve to shift to the left?  Use the AD/AS model to trace through the short-run and long-run effects of such a shift on output (GDP), employment, and the price level.
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Starting from the initial equilibrium on the LRAS where AS1 and AD1 intersect, the AD curve shifts to AD2 – moving down the AS1 the economy contracts in the short-run as output (GDP) falls, the unemployment rate rises, and the price level decreases.

As the economy adjusts in the long-run to this lower level of AD, prices and wages (or misperceptions) begin to adjust leading the AS curve to shift from AS1 to AS2.  As this occurs, output and employment begin to recover back towards the long-run full-employment equilibrium on the LRAS curve.
9.  (Chap. 24)  Suppose the aggregate demand curve has shifted left (for one of the reasons you mentioned in the previous item).
a. What action(s) might the Federal Reserve take to stabilize aggregate demand?

b. What action(s) might Congress and the President take to stabilize aggregate demand?

a.  In order to stabilize AD (that is, offset the leftward shift), the Federal Reserve could use one of its policy tools to increase AD (shift it back to the right).  Most typically, the Fed would use open market purchases of bonds in order to increase the money supply and lower interest rates – this would stimulate private sector expenditures for investment, consumption, and net exports.

b.  In order to stabilize AD (that is, offset the leftward shift), Congress and the President could use either or both fiscal policy tools of decreasing taxes and increasing government expenditures.  Decreasing taxes would increase AD by increasing consumption and investment expenditures by households and businesses, while increased government expenditures would directly increase AD. 
10. (Chap. 24)  What are:

a. the multiplier effect

b. the crowding-out effect

c. automatic stabilizers

a.  The(expenditure) multiplier effect refers to the additional increases in aggregate demand (AD) (and GDP and income) which arise from the round-by-round effects of increased spending creating additional production which, in turn, creates additional income which produces additional spending.  The expenditure multiplier effect is finite because as additional income is created, only a fraction is spent on new consumption with the rest being saved or paid in taxes.

b.  The crowding-out effect refers to consequences of an increase in the government budget deficit (whether arising from a decrease in taxes or an increase in expenditures) – the larger deficit requires the government to increase its borrowing in financial markets, which increases the interest rate and reduces private sector expenditures (for investment and/or consumption).  That is, government borrowing crowds-out private borrowing and spending.

c.  Automatic stabilizers are changes in fiscal policy – government spending and taxes – which are built-in to law to affect aggregate demand (AD) without policymakers having to take deliberate action.  For example, as incomes fall in a recession, people drop into lower tax brackets (taxes go down) and various forms of income support increase.
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